/DVIRB

3RPLHV]F]HQLH 5RINiDG  $ 7\J
7N 7\6] 7\6]
GHPIQDUXP G\SIRPRZH GU KDE GHIDQLQDX OINKDL $ (HPHQI\ UyZQDE U TQIFINRZ\FK Z GU (HPHQI\ UyZQDE U TQIFINRZ\FK (Z G
=03 .6%/ KDE . KDUNHY\FK <X $ 030 UKDE - KDUNHY\FK <XllL $ -03
.= o, &
7N
7N 7N

6HPLQDUXP G\SIRPRZH GU .UDZF]\N = DIGHPDU $

= =03 .6%/ 6 6HPLQDUXP G\SIRPRZH GU KDE 6HIDQLQDX OINKDI) $ 6HPLQDUXP G\SIRPRZH GU KDE 6HIDQLQDX OINKDI) $
T 03 .6%/ 6 03 .6%/ 6
fal 7\6]
— \J
oy 6HPLQDUXP G\SIRPRZH GU KDE 6HIDQIQDX 7
I OINKDI) $ 03 .6%/ 6 6HPLQDUXP G\SIRPRZH GU .UDZF\N = DIGHPDU $
o 03 .6%/ 6
i 7\G]
GHPLQDUXP G\SIRPRZH GU _UDZF]\N 7] 7]
= DIGHPDU $ =03 .6%/ 6 BHPLQDUXP G\SIRPRZH GU KDE GHIDQIQDX 6HPLQDUXP G\SIRPRZH G KDE 6HIDQLODX
OWNKDI) $ =03 .6%/ 6 OINKDU $ =03 .6%/ 6
7\6]
6HPLQDUXP G\SIRPRZH Gl - UDZF]\N
= DIGHPDU $ =03 .6%/ 6
7N 7\G] 7\G] 7N
&KHPLD RUJDQIF]QD Z (HPHQIN UyZQDE (HPHQIN UyZQDE 9%RPDIHUDA GJ KDE
NUNPLQDIVINFH GU *<IUHN UTQIFINRZ\FK Z G UTQIFINRZ\FK (Z Gl ~REUT\EVN. 3RIU $
7RPDV] $ =03 KDE - KDUNHY\FK <Xl $ KDE . KDUNHY\FK <XUL $ 03,710, =
6%/ & = 030, ot 030, &
7N 7N
3RGVIDZ\ PDIHPDNN. Z\TVIHI GZ .D 76l
6HPLQDUXP G\SIRPRZH ZD SHQDID $ 03,0, 5° 94RPDIHULD:
SURI %DD +HQU\N $ 03,0, 52 \ Gl KDE
7N $ = REUT\EWN.
$ :03./ 7N 3RS
6 %H]SIHFTHEVIZR o 03
HIHNILRHQHUIHINFTQH GU 710,
el OLHG]LEVN. 5DIDi $ :
=DUJ4GIDQLH IDNRGFla L 03 %0 %7 =
EHJSIHFTHEVIZHP SURI GUKDE .RiRT\Q
z _UDIHZVND *DOXID $ =03 TF]L"
T .
=} (o] =Dl
z
N
7
6HPLQDUX
P
G\SRPRZH
SURI %DID
+HOAN $
7N
$
$ -0
3./
6
7N
3RGVIDZ\ PDIHPDINN. Z\TVJHI GZ D
ZD SHQDID $ 03,0, 5°
03,0, 52




/DVIRB

3RPLHV]F]HQLH 5RINiDG  $ 7\J
7\G] 7N 7N
GUIQT GRVQRZVN. ODUFLQ 3RGVIDZ\ NRQUILXNFIL L HNVSIRDIDFIL PDVIAQ ™ BRGVIDZ NRQVIUXNFIL L HNVSIRDIDFIL PDVINQ
$ iZ GUIQT 3RICID =\JPXQI $ -03 iZ GUIQT GRINVIDNAXNDV] $
, %, & 3RGVIDZ\ 3IRIRNSRZDQD * 03,710, &
JHELDQH , 7.6% NRQVIUXNFIL
L
3 7\C] HNVSIRDIDFI
&2 PJU *IDERZVND .DIRIQD $ L PDVI\Q
I Z GULQT
7N GRANVIDN
axNDv] $
3RGVIDZ\ NRQVIUXNFIL L =03
HNVSIRDIDFL PDVINQ Z 710,
GULQT 3RICID =NIPXQI :
$ 03 %, -
7N 7\G] 7N 7N 7N
Y%RIDQIND Z N\PLQDIVINFH GU ODIFKU]DN ODIHPDINFIQH ZVSRPDJDQIH GHRJL 6Z S |||SIRI QDG]1Z ODQGRZVN. SINDGLXV] $
%DUEDID $ Z03.6%/ &.: URI BRYVIHQNR —XUW! $ 03 %0 & OHFKDQIND IHFKQIFIQD PJU | |OHFKDQIND IHFKQIF]QD P
= 7N 1QT SHVIND 3R $ -0 | [iQT sHVIND BRI $ -0
< ™ 3URIHNIRZDQIH VAVIHPYZ EH]SIHF]HEVIZD G [ (13710 . = 3710, &
2 BIDIVIAND RSLVRZD 4 Gl %HUQDFND U 3UDX]QHI 7RPDV] $ 03 %0 &
N ODJGDHQD $ 03 %0 &
n 7\G]
N GIDIVIAND RSVRZD GZ GU %HUQDFND
ORGHIRZDQH JDJRTHE Z SIRI QDG]Z ODJGDIHQD $ 03 %0 &
ODQGRZVNL $INDGXV] $ 03 %0
7\G] 7N 7N
$ -RPXQINDFID VSREHF]QD -RPXQINDFID VSREHF]QD
R Z J0UJaG1DQX Z I0UJaG1DQX
JHE 21D EHISHFIHEWIZHP P EHISHFIHEVIZHP P
/DIDU -RDQQD $ - /DIDU -RDQQD $ :
u N4 N N N 03 .6%/ 7 03 .6%/ 7
UHISIHFIHEVIZR -RPXQINDFID VSRHF]QD -RPXQINDFID VSRHF]QD -RPXQINDFID VSRHF]QD ZDNIDN ZDNIDN
SRIDIRZH RELHNlyZ EXG Z J0UJaG1DQX Z J0UJaG1DQX Z J0UJaG10QX
- Z PJU*UDERZVND EHISHFIHEWIZHP P EHISHFIHEWIZHP P EHISHFIHEWIZHP P
T _DIRIQD $ =03 % /D]DU -RDQQD $ - /D]DU -RDQQD $ - /D]DU -RDQQD $ - nCH nCH
S . s 03 .6%/ / 03 .6%/ / 03 .6%/ / 2FKIRQD S SRTDIRZD L S 2FKIRQD S SRTDIRZD LS
= . . . Z\EXFKRZD (DE PJU Z\EXFKRZD Z PJU
» ZDWIIDI ZDWIIDI ZDWIIDI *UDERZVND .DURIQD $ *UDERZVND . DIRIQD $
7\6] 7\6] 7\6] 03 %, =%/ 03 %, =% =
%H]SIHFTHEVIZR %H]SIHFTHEVIZR 2FKIRQD S SRTDIRZD LS ZDWHDN
SRTDIRZH RELHNlyZ EXG SRTDIRZH RELHNIyZ EXG Z\EXFKRZD (DE PJU
IDE PJU*UDERZVND IDE PJU*UDERZVND *IDERZVND . DURIQD $
_DURIQD $ Z03 % _DURIQD $ =03 % 03 %, =%/
— — ZDWV]IDI\
ZDW]IDA ZDW]IDA |
7\G] \G]
3UDZQH DVSHNI SURFHVYZ H GIVFRYHA PJU _IHPHQF aXNDV] $ =03 BHPLQDUXP G\SIRPRZH GU KDE *1) $1QD $
_6%5 %3 & 03 .6%5 6
% 7\6] 7\6]
i 3UHGPLRI IDNXIDINZQ\ GR Z\ERIX ,, PJU &\EHUSUTHVICSFIRG PJU = DVIN $GUDQ $ Z03 .6%5 %§&
o« = DVIN $GUDQ $ Z03.6%5 =
&]\QQRGFL RSHUDF\IQR UR]SR]QDZF]H _7\G] )
&\EHUSUTHVICSFIRGU PJU = DVIN $GUDQ $ S03.6%5 %§&

7\G]
&\EHUSUTHVICSFIRGU PJU = DVIN $GUDQ $

03 .65 %G &




/DVIRB

&]J\QQRGFL RSHUDF\IQR UR]SR]QDZFIH

&]J\QQRGFL RSHUDF\IQR UR]SR]QDZFIH
ZDW]IDIN

3RPLHV]F]HQLH 5RINiDG  $ 7\J
7\G] 7\G] 7\C]
3UJHGPLRI IDNXIDNZQ\ GR Z\ERIX ,, PJU | |3U]HGPIRY IDNXUDINZQ\ GR Z\ERUX ,, PV 6HPLQDUXP G\SIRPRZH GU KDE *1) $1QD $
SDVNSGUDQ $  -O3 .6%5 - SDVNSGUIDQ $ O3 .6%5 / 03 .6%5 6
A &]\QQRGFL RSHIDF\IQR UIRTSRTQDZFTH &]\QQRGFL RSHIDF\IQR UIR]SRTQDZFTH
= ZDIV]IDI 7\G]
x WDV _
] 3UDFRZQLD G\SIRPRZD GULQT
< 7\6] BRVQRZVNLODIFQ $ =03 6% 5
3UJHGPLRI IDNXIDNZQ\ GR Z\ERIX ,, PJU /
SDVNSGUIDQ $ =03 .6%5 /
&]\QQRGFL RSHUDF\IQR URJSRIQDZFTH
ZDW]IDIA
7\6] 7\6]
3UDZQH DVSHNIN SURFHVYZ H GIVFRYH PJU (HPHQF 6HPLQDUXP G\SIRPRZH GU KDE 1) $1QD $
a) aXNDV] $  -O3 .6%5 %3 & 03 .6%5 6
T
@ 7\G] 7\G]
I 3UHGPLRI IDNXIDNZQ\ GR Z\ERIX ,, PJU | |3U]HGPIRY IDNXIDINZQ\ GR Z\ERUX ,, P.JU
o SDVNSGUDQ $  -O3 .6%5 - SDVNSGUIDQ $ =03 .6%5 /




